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. mrrin the 92’0 (on the noMa)
a. Sameasin 7777 from vl
i. Both: 1»wn o 190 07 inferred, even though n%ynb 9an o1/nony 1YW 0T are inferred via wpn
1. Since: they are explicitly written, only details provided via wp’n OR
2. Explicit: sprinkles are brought “out” via wp'n, they “drag” the others
ii. Tangent: end of v. 1, in spite of v. 2, n12w is still with 11 (dispute with early Christian)
b.  o7sprinkled: towards the naa (not on it) — same with 712x Y» 727 DYYN 79 etc.
i. o 92 958 7. saw nona with blood from 5"nv nmay (aligned) and nynna mron (not aligned)
c.  If the bloods: were inadvertently mixed (before p”nTpa minn)
i. ~27 sprinkle mixture 11 & 7U
1. Challenge (7707 *7): he placed 1 of the 1yw before U of the 79 (contra v. 3)
2. Rather: 11! & 7U 12 nwY and then 11 & 7J vy nwhy
d. If the bloods: were inadvertently mixed (before completing Y3na ninn, after T of 79)
i. 977 (perhaps) 7 U for both, 1 1! for vyw
1. Challenge (827): U of 1yw before 1l of 1yw?
2. Rather: 7 {19 0wy then 111 & 7J »yv owy
If the cups: were mixed up — give 3 times 111 & 7U (if A is 719, done after 2; if B is 79, 1%t A null, 2&3 good)
f.  If some of the oT. was mixed (some still identifiable in each cup) — certainly sprinkle from “known”
i. Question: are the remains 0w (spilt into T0%) or ©"N7 (spilt into NNR)?
1. 977 they are o n1, even according to the 7"n that one cup makes another v v
a.  But here: »nT may not be sprinkled from other cup
2. »77 1772 N7 7T they are D7V, even according to 7"n that one cup makes another nn7
a.  Only if: he deliberately pushed it away (by not using it for np»r),
i. But here: it happened inadvertently
b.  Presentation of the dispute: between w”aR1/1127 re: nRVN
i. Whose blood: was received in 4 n»1pm and he only used 1 of them
ii. 227 other 3 are N7 - go to NNR (as per vv.4-5)
iii. w7an7: all are VY - go to Mo (as per v. 4 — v. 5: 0w still in nnna)
II. Mixing the onT — per MWR’ "1 (contra 1M "1: PYVN DA 190 DTN Dseparately), based on nnx (v7)
II. 93 functioning as n¥'sn (i.e. does something serve as a n¥’xn with its own type)
a.  Proof: placing it inside = not considered a nx»xn
i. Correction: pouring full into empty, in order to mix them well
b.  Proof: standing on a fellow’s foot is invalid (n¥»¥n between T21y’s foot and floor)
i. Challenge:different — a foot cannot be “negated” — it is serving its own purpose
c.  Alternative question: is a *93 within a »53 considered proper “service”
i. Answer: affirmative, from v. 8 - multiple 093, 1 mw
ii. Tangential question: is moss a nx¥n?
iii. Answer (context 19178 779): sponge is not a N¥»¥N vis-a-vis water
1. Rejection: blood is more viscous
2. Other answer: re: blood, it isn’t yxmn (liquid), re: ynip, same material (flour) is yxmn
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